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¥ BBl | 4R RE E R & 3 A A & 1 BEKMHEHE

(MBq) (MBq) (MBq)

67G a 3 KR 37,000.0 11,100.0 740.0
99M o 3 w K 4,440, 000.0 1,110, 000.0 44,400.0
99m T c 3 KR 8, 880, 000. 0 2,220, 000.0 88, 800.0
1111 n 3 w KR 7,400.0 1,850.0 222.0
1231 3 WK 185,000.0 37,000.0 3,330.0
1311 3 wR 7,400.0 462.5 37.0
201 T 1 4 woR 74,000.0 24,000.0 222.0
FE B4 R E & FREI 13,556,800. 00MBq | % 4 74,000. 00MBgq
FERSARIfE H %% & AR 3,380,413.00MBq | %4 E 14, 800. 00MBq
FERILRRAME A S & FR 137,529.00MBq | #4 333. 70MBq




